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2 Xeotg e
HAHz2 ™ ™
e %) %) ] a b
242 11.0 333.0£6.0 56.0£0.6 -2.9+0.1 19.9£0.5
30z 8.1 382.2+6.8 55.6£0.5 -3.8+0.1 16.3£0.5
100% 60= 8.1 379.1£1.0 52.5%0.1 -3.6+0.1 14.1+0.1
90z 8.5 366.6+£5.9 50.4+1.1 -3.2£0.0 12.5+0.7
120z 9.7 375.7+7.3 53.6+0.2 -3.2£0.1 15.1+0.2
? L(+white ~ -black), a(+red ~ -green), b(+yellow ~ -blue)
<E 2 EAR|E AZS EIEN vl >
= PN BT A2
e %) %) 1 a b
F4e] 7.7 345.5+£9.2 59.2+0.5 -5.2+0.1 20.2+0.2
1= 6.9 360.2+£4.6 54.7+0.2 -4.4+0.0 16.7£0.1
22 6.9 353.2+4.7 54.8+0.5 -3.8£0.1 15.9+0.2
100C 32 6.5 343.1+£3.5 55.6+0.2 -4.1+0.0 17.2£0.2
42 5.6 327.1+£3.2 53.4£0.1 -3.1+£0.0 15.7£0.2
58 7.1 334.2+0.5 58.2+£0.4 -2.7+0.0 18.3£0.3
* L(+white ~ -black), a(+red ~ -green), b(+yellow ~ -blue)
<E 3 YSEe UXET BUSH Hm>
o e M
ESpolEl B B
e (%) %) ] a b
S22 10.4+0.1 177.4%0.6 51.7+0.2 0.2£0.0 15.1+0.2
100C 3& 6.9£0.1 259.1+£8.9 56.2+0.2 -2.2+0.1 17.3£0.1
100C 5& 7.4£0.0 263.8+1.4 57.2£0.0 -1.9+0.0 17.8£0.1

? L(+white ~ -black), a(+red ~ -green), b(+yellow ~ -blue)

g2 A, BME, =AY, EEE
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